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Bell numbers

Ramsey’s numbers

Catalan numbers

Stirling numbers of the second kind

Convolution

Permutation
Derangement
Partitions of positive integers

Partitions of sets

Edge coloring

Combination

Generating function
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Exponential generating function
Ordinary generating function
Order of a recurrence relation

Complete graph

Closed formula

Ferrers diagram

Recurrence relation
Linear recurrence relation

Homogeneous recurrence relation

Pigeonhole principle

The inclusion-exclusion principle
Superpostion principle

The rule of sum
The rule of product

The rule of correspondence

Sequence
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Triangulation

Multiset

Binomial theorem

Pascal’s identity

Binomial series

Formal power series

Generalized binomial coefficients
Multinomial theorem

Transpose

The sample model of counting

The distribution model of counting
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